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Pairs of Straight lines
أزواج الخطوط المستقيمة

The two-degree homogeneous general equation in two variables

:متغيرينفيالثانيةالدرجةذاتالمتجانسةالعامةالمعادلة
The product of the zero equations x + 3y = 0, 2x-y = 0 which represent two straight
lines passing through the origin point (0, 0) is given by the homogeneous equation
2𝑥2 + 5𝑥𝑦 − 3𝑦2 = 0. It is clear that any point (x, y) located on either of the two
straight lines achieves this homogeneous equation, the inverse process, which is
what is the equation 2𝑥2 + 5𝑥𝑦 − 3𝑦2 = 0?

xإن حاصل ضرب المعادلتين الصفريتين  + 3y = 0, 2x- y ل اللتين تمثلان خطين مستقيمين مارين بنقطة الأص0 =

2𝑥2يعطى بالمعادلة المتجانسة (0 ,0) + 5𝑥𝑦 − 3𝑦2 = 0

,x)نقطةأيأنواضح y)وهييةالعكسالمتجانسةالعمليةالمعادلةهذهتحققالمستقيمينالخطينمنأيعلىواقعة

2𝑥2المعادلةتمثلماذا + 5𝑥𝑦 − 3𝑦2 = ؟0
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Theory (1):
Two-degree homogeneous general equation in x, y

𝐚𝐱𝟐 + 𝟐𝐡𝐱𝐲 + 𝐛𝐲𝟐 = 𝟎 (1)
It always represents two straight lines that pass through the point of origin.

𝑥

𝑦
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Example (1): What does the equation represent? 𝟐𝒙𝟐 + 𝒙𝒚 − 𝟑𝒚𝟐 = 𝟎.
Solution:
We analyze the equation by looking at (2x + 3y) (x - y) = 0

Or using the law as a quadratic equation in 
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𝟐𝒙𝟐المعادلةتمثلماذا:(1)مثال + 𝒙𝒚 − 𝟑𝒚𝟐 = 𝟎.
:الحل

– x)(2x + 3y)إلىالمعادلة بمجرد النظر نحلل  y) = 0

القانون باعتبارها معادلة من الدرجة الثانية في أو باستخدام 
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The angle  between the two lines represented by
equation (1)

(1)بالمعادلةالممثلينالمستقيمينبينالمحصورةالزاوية

𝒕𝒂𝒏𝜽 = ±
𝒎𝟏 −𝒎𝟐

𝟏 +𝒎𝟏𝒎𝟐
= ±

𝒎𝟏 +𝒎𝟐
𝟐 − 𝟒𝒎𝟏𝒎𝟐

𝟏 +𝒎𝟏𝒎𝟐
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:ونانسيكالمستقيمينأننرىأنيمكنناالنتيجةهذهمن

a)كانإذامختلفينحقيقيينℎ2 − 𝑎𝑏 > 0

b)كانإذامنطبقينحقيقيينℎ2 − 𝑎𝑏 = 0

c)كانإذاتخيليينℎ2 − 𝑎𝑏 < 0

From this result we can see that the two straight lines will be:
a) Real different if ℎ2 − 𝑎𝑏 > 0

b) E𝒒𝒖𝒂𝒍 𝑹𝒆𝒂𝒍 ℎ2 − 𝑎𝑏 = 0
c) Imaginary if ℎ2 − 𝑎𝑏 < 0



The condition for the representation of the second degree general equation 
in two straight-line variables:

:شرط تمثيل المعادلة العامة من الدرجة الثانية في متغيرين خطين مستقيمين

𝒂𝒙𝟐 + 𝟐𝒉𝒙𝒚 + 𝒃𝒚𝟐 + 𝟐𝒈𝒙 + 𝟐𝒇𝒚 + 𝒄 = 𝟎
Where a, h, b are not zero.
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Theory (2):The condition for the representation of the general equation of the second
degree (I) is two straight lines, different or equally applicable, and they can be fictitious, that

the determinant: Δ =

𝑎 ℎ 𝑔
ℎ 𝑏 𝑓
𝑔 𝑓 𝑐

= 0. Which is called the big delimiter. Conversely, if  = 0,

equation (I) represents two straight lines. (Also the determinant  is called the general
quadratic equation).

أنويمكنكما  منطبقينأوومختلفينمستقيمينخطين(I)الثانيةالدرجةمنالعامةالمعادلةتمثيلشرط:(2)نظرية

:المحددأنتخيليين،يكونا

a h g
h b f
g f c

كانإذاوبالعكس.الكبيربالمحدديسمىوالذي0= = تمثل(I)المعادلةفإن0

.(الثانيةالدرجةذاتالعامةالمعادلةبمميزيسمىالمحددأيضا  ).مستقيمينخطين



𝒀𝟐المعادلةإليهتؤولماأوجد:مثال − 𝑿𝒀 − 𝟔𝑿𝟐 + 𝟐𝟓𝑿 − 𝟐𝟓 = نقطةنقلبعد𝟎

,2)الأصل اذاموضعثمالناتجةالمعادلةحلل.الاتجاهنفسفيالمحاوربقاءمع(1

.المعطاةالمعادلةتمثل
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Example: Find the equation 𝒀𝟐 − 𝑿𝒀 − 𝟔𝑿𝟐 + 𝟐𝟓𝑿 − 𝟐𝟓 = 𝟎. After
moving(transfer) the origin point (2, 1), while the axes remain in the
same direction. Analyze the resulting equation and then put what the
given equation represents.



𝑥عن  نعوض : الحل = 𝑥′ + 2,𝑦 = 𝑦′ + في المعادلة المعطاة ينتج أن1
𝑦′ + 1 2 − 𝑥′ + 2 𝑦′ + 1 − 6 𝑥′ + 2 2 + 25 𝑥′ + 2 − 25 = 0

𝑦′2أو + 2𝑦′ + 1 − 𝑥′𝑦′ − 2𝑦′ − 𝑥′ − 2 − 6𝑥′2 − 24𝑥′ − 24 + 25𝑥′ + 50 − 25 = 𝑦′2أو0 − 𝑥′𝑦′ − 6𝑥′2 = 0

,’xفيالثانيةالدرجةمنمتجانسةمعادلةوهذه y’الجديدةالأصلبنقطةيمرانالمستقيماتمنزوجتمثلفهيولذلك.

:أنينتجالمعادلةهذهوبتحليل
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The solution: Substitute 𝒙 = 𝒙′ + 𝟐, 𝒚 = 𝒚′ + 𝟏 in the given equation, resulting in

𝒚′ + 𝟏 𝟐 − 𝒙′ + 𝟐 𝒚′ + 𝟏 − 𝟔 𝒙′ + 𝟐 𝟐 + 𝟐𝟓 𝒙′ + 𝟐 − 𝟐𝟓 = 𝟎

Or 𝒚′𝟐 + 𝟐𝒚′ + 𝟏 − 𝒙′𝒚′ − 𝟐𝒚′ − 𝒙′ − 𝟐 − 𝟔𝒙′𝟐 − 𝟐𝟒𝒙′ − 𝟐𝟒 + 𝟐𝟓𝒙′ + 𝟓𝟎 − 𝟐𝟓 = 𝟎

Or 𝒚′𝟐 − 𝒙′𝒚′ − 𝟔𝒙′𝟐 = 𝟎 .This is a second-degree homogeneous equation in x ’, y’ and therefore represents a
pair of straight lines passing through the new origin point. By analyzing this equation it is produced that:



𝑦′ − 3𝑥′ 𝑦′ + 2𝑥′ = ′𝑦:أي أن معادلتي المستقيمين هما 0 − 3𝑥′ = 0,𝑦′ + 2𝑥′ = 0

′𝑥عنعوضناوإذا = 𝑥 − 2,𝑦′ = 𝑦 − :هيالأصليةللمحاوربالنسبةالمستقيمينمعادلةأنينتج1

𝑦 − 3𝑥 + 5 = 0, 𝑦 + 2𝑥 − 5 = 0

.(1 ,2)أن المعادلة المعطاة تمثل زوج من المستقيمات متقاطعان في النقطة أي 
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𝑦′ − 3𝑥′ 𝑦′ + 2𝑥′ = 0.That is, the two equations of the two lines are:

𝑦′ − 3𝑥′ = 0, 𝑦′ + 2𝑥′ = 0. If we substitute for 𝑥′ = 𝑥 − 2, 𝑦′ = 𝑦 − 1 it

follows that the equation of the two lines for the original axes is: 𝑦 − 3𝑥
+ 5 = 0, 𝑦 + 2𝑥 − 5 = 0.That is, the given equation represents a pair

of straight lines crossed in point (1, 2).



𝟐𝒙𝟐المعادلةأنأثبت:مثال − 𝟒𝒙𝒚 + 𝟐𝒚𝟐 + 𝟖𝒙 − 𝟖𝒚 − 𝟏𝟕 = .معادلتهماأوجدثممستقيمين،خطينتمثل𝟎

𝑎:الحل = 2,ℎ = −2,𝑏 = 2,𝑔 = 4,𝑓 = −4,𝑐 = −17

مستقيمينخطينالمعطاةالمعادلةتمثللكياللازمالشرط:Δ =

𝑎 ℎ 𝑔
ℎ 𝑏 𝑓
𝑔 𝑓 𝑐

=
2 −2 4
−2 2 −4
4 −4 −17

= .متحقق0

Pairs of Straight lines
أزواج الخطوط المستقيمة

Example: Prove that the equation 𝟐𝒙𝟐 − 𝟒𝒙𝒚 + 𝟐𝒚𝟐 + 𝟖𝒙 − 𝟖𝒚 − 𝟏𝟕 = 𝟎 represents two
straight lines, and then find their equation.
The solution : 𝑎 = 2, ℎ = −2, 𝑏 = 2, 𝑔 = 4, 𝑓 = −4, 𝑐 = −17.  the condition for the given

equation to be two straight lines: 𝚫 =

𝒂 𝒉 𝒈
𝒉 𝒃 𝒇
𝒈 𝒇 𝒄

=
𝟐 −𝟐 𝟒
−𝟐 𝟐 −𝟒
𝟒 −𝟒 −𝟏𝟕

= 𝟎. Achieved.
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 The equation represents two straight lines. To find their equation, we solve the given equation with
respect to x or with respect to y (because both are quadratic).

We write the equation on the image: 𝑦2 − 2 𝑥 + 2 𝑦 + 𝑥2 + 4𝑥 −
17

2
= 0. By solving this equation for y

we get 𝑦 = 𝑥 + 2 ± 𝑥 + 2 2 − 𝑥2 + 4𝑥 −
17

2
. That is, 𝑦 = 𝑥 + 2 ±

5

2
Therefore, the two lines are:

𝑦 = 𝑥 + 2 +
5

2
, 𝑦 = 𝑥 + 2 −

5

2
. These two lines are parallel.

لـبالنسبةالمعطاةالمعادلةنحلمعادلتهمالإيجاد.مستقيمينخطينتمثلالمعادلةxلـبالنسبةأوy

𝑦2:الصورةعلىالمعادلةنكتب.(الثانيةالدرجةمنكليهمالأن) − 2 𝑥 + 2 𝑦 + 𝑥2 + 4𝑥 −
17

2
= بحل0

𝑦علىنحصلyلـبالنسبةالمعادلةهذه = 𝑥 + 2 ± 𝑥 + 2 2 − 𝑥2 + 4𝑥 −
17

2
𝑦أنأي = 𝑥 + 2 ±

5

2

𝑦:همافالخطانذلكوعلى = 𝑥 + 2 +
5

2
, 𝑦 = 𝑥 + 2 −

5

2
.متوازيانالمستقيمانوهذان.



تم الإنتهاء من المحاضرة

تهالسلام عليكم ورحمة الله وبركا


